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1 100kN/ m##8 %% - -~ — —|3mEHEZS — ~ — — —| 100kN/m%#BZ % — -~ — —|3mEHEZS -~ — — —
zh s 100 000 ~ 464 5789 | ZhbLlst | 000 ~ 464 | 1.86 9.38 zh s 100 500 ~ 5.00 5789 | #hLlst | 500 ~ 500 | 1.86 9.38
2 100kN/M##Z % 1.00| 0.00 ~ 0.59 108.77 |3mZE#BZ 5 — ~ — — — | 100kN/m%# %% | 1.00 [10.81 ~ 1246 108.77 |3mZE#BA 5 -~ - - -
zh s 100 059 ~ 8.38 100.00 | ZHL A% | 000 ~ 8.38| 2.31 11.67 Zh Lt 1.00| 500 ~ 10.81 100.00 | ZhbLlst | 500 ~ 1246 | 2.31 11.67
3 100kN/M##Z % 1.00| 000 ~ 0.75 111.24 |3mZE#BZ 5 — ~ — — — | 100kN/m#%# %% | 1.00 (1053 ~ 12.71 111.24 |3mZE#BZ 5 -~ - - -
zh s 100 0.75 ~ 854 100.00 | 1A%+ | 0.00 ~ 854 | 2.19 11.07 Zh Lt 100 | 500 ~ 10.53 100.00 | ZHLlA4t | 500 ~ 1271 | 2.19 11.07
4 100kN/M##Z % 1.00| 0.00 ~ 0.20 102.90 |3mZE#BZ 5 — ~ — — — | 100kN/m%#%2%| 1.00 [10.78 ~ 11.30 102.90 |3mZE#BZ 5 -~ - - -
zh st 100 020 ~ 7.98 100.00 | 1L A4+ | 0.00 ~ 7.98 | 2.30 11.64 Zh Lt 100 500 ~ 10.78 100.00 | ZHLA% | 500 ~ 1130 | 2.30 11.64
5 100kN/M##Z % 1.00| 0.00 ~ 0.99 114.83 |3mZE#BZ 5 — ~ — — — | 100kN/m%#%2%| 1.00 [10.80 ~ 13.75 114.83 |3mZE#BZ 5 -~ - - -
zh st 100 099 ~ 8.77 100.00 | ZHL A% | 000 ~ 8.77| 2.31 11.66 Zh Lt 1.00| 500 ~ 10.80 100.00 | ZhbLlst | 500 ~ 13.75 | 2.31 11.66
6 100kN/M## 2% 1.00| 000 ~ 158 12418 |3mZE#BZ 5 — ~ — — —| 100kN/m%#2%2%| 1.00 [10.62 ~ 15.87 12418 |3mZE#BZ 5 -~ - - -
zh s 100 158 ~ 937 100.00 | ZHLA%+ | 000 ~ 937 | 245 12.38 Zh Lt 1.00| 500 ~ 10.62 100.00 | ZHLLU4 | 500 ~ 1587 | 2.45 12.38
7 100kN/M#E# 2% 100 000 ~ 154 12342 |3mZE#BZ 5 — ~ — — —| 100kN/m%#%2%| 1.00 [10.89 ~ 15.98 12342 |3mZE#BZ 5 -~ - - -
zh s 100 154 ~ 932 100.00 | ZHLA4+ | 000 ~ 932 | 2.53 12.77 Zh Lt 1.00| 500 ~ 10.89 100.00 | ZHL A4 | 500 ~ 1598 | 2.53 12.77
100kN/ m##8 %% ~ InEHBZS ~ 100kN/ m##8 %% ~ InEHBZS ~
zh s ~ zh s ~ zh s ~ zh s ~
100kN/ m##8 %% ~ InEHBZS ~ 100kN/ m##8 %% ~ InEHBZS ~
zh s ~ zh s ~ zh s ~ zh s ~
100kN/ m##8 %% ~ InEHBZS ~ 100kN/ m##8 %% ~ InEHBZS ~
zh s ~ zh s ~ zh s ~ zh s ~
100kN/ m##8 %% ~ InEHBZS ~ 100kN/ m##8 %% ~ InEHBZS ~
zh s ~ zh s ~ zh s ~ zh s ~
100kN/ m##8 %% ~ InEHBZS ~ 100kN/ m##8 %% ~ InEHBZS ~
zh s ~ zh s ~ zh s ~ zh s ~
100kN/ m##8 %% ~ InEHBZS ~ 100kN/ m##8 %% ~ InEHBZS ~
zh s ~ zh s ~ zh s ~ zh s ~
100kN/ m##8 % % ~ InEHBZS ~ 100kN/ m##8 %5 ~ InEHBZS ~
zh st ~ zh s ~ zh st ~ zh st ~
100kN/ m##8 % % ~ InEHBZS ~ 100kN/ m##8 % 5 ~ InEHZS ~
zh s ~ zh st ~ zh st ~ zh st ~
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